BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x10° 5%x10° 10%

10

10 100

1

100 1000 10*

10

rm964 2/(411408 5083) 0. 775
: , : , :
i BIC 380512 19 ABIC 0.000 AIogP 0. OOOO
- x 314802.50 Ax 0.000 AlogP 0.0000 -
L
L . . Xz
I ABIC —37868 ]
Ax? —37868
5083 5083
A ACs
L | L | L | L | L
20 40 60 80
92 iterations
rm964 2/(41 1408— 5083) 0.775
E T I T I T E
F BIC 380512 19 ABIC 0.000 AIogP 0. OOOO
S Z 374802.50 Ax 0.000 AlogP "0.0000 3
S 5083 | 5083 3
L e ACk- - - - 4
E , | , | , | , | L3
20 40 60 80
92 iterations
Fe2 4% 0+0 km/s
rm964 BLR 3000 NLR 900 km/s
F T | T | T | | B
i ] BLR
S R R S R = NLR
I 5083 5083 ]
[ A ACs 1
L | L | L | L | L
20 40 60 80

92 iterations

kdh1 15-0ct-2021 20:46



